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Seventh

Time: 3 hrs.

Note: Answer

I a. Describe the classification of vstems.

b. Enumerate the difference
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c. Explain PID controllers

2 a" Explain the
b. With a neat b
c. Derive an

Exp

The

4a.
b

OR
o hanical systems.

in Fig

curves.

(b)

closed loop transfer function

c0)

order system. (10 Marks)
percentage overshoot and settling time
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loop and closed

Fig. Qs (a)
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Gontrol En

Derive the relation lor
For tlre control system
for a unit step input.
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Fig. Qs (b), if Gr : 5,b. Find the transfer function for the signal flow graph
Gz : Gr : 10, G: : 1, Gs :2,Ht: 1, Hz :2,H3:0.5 and

Fie. Qs (b) (10 Marks)

,$.s OR
6 a. Draw the signal for the given blo

control ratio using s gain formula.

b. Itedr-rce the block shown in
closed loop

Fig Q6 (b)

shown in Fig. Q6 (a) and find its
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ible form and firrd its
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Module-4

the system for the characteristic equation

(10 Marks)

(07 NIarks)

flinction of K

(07 NIarks)

(06 NIarks)

0, by Routh-Flurwitz criterion.
the stability of the closed loop system as a
function,

b By applying RI{
fbr the followin"
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Explain break away point and
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break in point in root locus.
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8 Construct a root

9 a. Sketch the Polar

b. lJsing Nyquist

tunction is G(s)H(s) =

10 a. Explain gain margin
b. Sketch the Bode Plot
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frequency to be 5 rad/sec. (16 Marks)

G(s) =
1+0

Determine for the gain cross over
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(20 Marks)

(08 Marks)
s(s+1)(s+2)

10

and phase margin with sketches.
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Max. Marks: 100

question from euch module.

Seventh Semester B.E. Degree n, June/July 2024

Gomputer Aided Desig Manufacturing

Time: 3 hrs.

lYote: Answer any FIVE fttll
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1 a. Define automation. Explain lor automation (10 Marks)

b. An average part produced batch lant must be processed through

an average ofsix batches are each week. Average oPeration time

is 6min, average set is 5hr, average non time per lratch is 1Ohr i machine

and average batch parts. There are 18 in the plant. The plant operates an

average of70 hours per week. lf the bility is 950%, detennine

lead time for an aYeta:,$a,,.: afi.

. .ti: t' '

iv)
v) m process

vi) ratio
vii) TIP ratio

2 a. What are the s
b. Sketch and
c. The ideal cycle a 16 station

the

(06 Marks)

is 2min. downtime is 6 min and

is equal for and is equal to 0.004
bound approach.

(09 Marhs)

(08 Marks)
(08 Marks)

2 units in y-axis.
(04 Marks)

(10 Marks)
(10 Marks)

(05 Marks)
(10 Marks)

OR *&a*

line?

(10 Marks)

(05 Marks)

J&rlc$A*,

(05 Marks)

Module-3
a. What is group technology? Enumerate the advantages of GT

b. With a neat block diagram, explain the components of FMS'

c. Dellne AS/RS and explain any ttvo types of ASIRS sYslem'

I ol2



OR
6 a. Explain the following:

i) Total work content
ii) Cycle tirne
iii) Line efficiency,

b. Define line balancing and list its objectives.

c. In a plant, a is to be assembled as

7a.
b.

data:
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(06 Marks)
(04 Marks)

candidate
(10 Marks)

(10 Marks)
shown in

(10 Marks)

: tl$fr' 'f ^^)
7(b)

8 a. Explain the tbllowing
i) Slip sensor
ii) Range sensor

ii0
!r)

'',,.,,,,y)

"l'oLrgh sensor

Proxirnity
Force and sensor

b. Define robot the difl'erent types of robotioints with neat sketches. (10 Marks)

Module-5

(10 Marks)

Explain the steps involved in additive manufacturing
(10 Marks)

polymerization process. (10 Marks)

(10 Marhs)
(10 Marks)

a**(**

9 a. Define
process.

b. With a neat sketcl'r,

I
olt

il. l-ist ancl explain the compone nts of lndustry 4.0 irt brief"
b. Deline IOT and explain its applications in nlanulacturing.
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lf the cycle time is 12 n-rin, calculate the nun-rber of stations
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rule.
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OR
a. E,xplain the various cases of declaring a process out of control even thougil the poir-its arc

within 2 control limits. (10 Nlarhs)

b. Explain various caused of variation in a process and what charts are usecl to plot these

variations. (10 Nlarlis)
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Seventh Semester B.E. Degree 
-Examination, 

June/July 2024
Total Quality Management

Time: 3 l'rrs. Max. Marks: 100

Note: Anstver any FIVE ftrll questions, clroosing ONE full question from ett'h motlule.

N{odulc- t

1 a. Define TQM Explain how TQM has contributecl to the success of Corporate World.
(10 Marks)

b. Explain any one contribution of Kaoru tshikarva towards the development of TQM
(10 Marks)

OR
2 a. What is ISO Quality Management System? Explain ferv of its advantages. (10 Nlarks)

b. Explain the concept of MBNQA (Malcolm Baldridge National Quality Arvard) rvith a neat

block diagram. (10 N{arks)

Module-2
3 a. List and explain various characteristics of TQM Leaders.

b. Explain the ethics management program used by Corporate World.

4a.
b.

5a.

b.

OR
Explain all 7 stages of strategic planning. (10 r\Iarks)

Explain with an example that has resulted in a good decision and helped a company to grou'

remarkably. ( l0 Nlarks)

Module-3
What is Customer Satisfactionl whut *-*i*s ct-tstomer perception of service cluality?

(10 \larks)
Explain with an examplc the KANO iliagram to translate needs into requirenlents. (10 Nlarks)

OR
6 a. Explain diflerent stages of Team development.

b. Explain how performance appraisal can supporl art organisation for its growth.
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